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 1.  � � � �� 	 
 � �� 
 � � ���� � � � � � �� � � � � 	 � � � �  (S h a k e r ) �	 
 � � � � � �  N e w  B r u s w i c k  S c i e n t i f i c  
E d i s o n  - .� / � �� 0 1 �0 2 3� � 4 53� � 6 7 4 � - 8 � 9:7 ; � � - 	 � � 	 < = � � 	 � 

 

 2.  � � � �� 	 
 � �� 
 �  (T e s t  S i e v e  S h a k e r ) � ?
 2  O c t a g o n  20 0  :7 ; 8 ; :3� 
 � 
 	 2 �� 8 � @ � 2 � � 	 � 9 20 
(8 00 � �< � � � �8 � ) :7 ; � � 	 � 9 40 (400 � �< � � � �8 � ) �	 
 � � �� ��  E n d e c o t t s  L t d .   � F ��	 0 1 �0 2 3� � � �� :� 3
�2 � � �	 
 � / 7 �3	 	 3� = � 9 

 

     3.  � � � ��	 
 	 ; 8 	 ���� :	 � = 	 � 1 ��2 - � �3< 8 � < H < 8 � ��� 8 	 � 9 (At o m i c  Ab s o r p t i o n   

S p e c t r o p h o t o m e t e r , AAS  ) AAa n a l y s t  10 0  �	 
 � ��� ��  P e r k i n  E l m e r   � F �� 	 0 1 � 0 2 3� � � � � � � � ; / 9 / � � 
 �
� � � �� �����2 :� � � ��� �� 	 	 	 2  (I I ) < � � 0 1 �- I � � ; 3� � � �� � � � ; / 98 � �� J
��	 �	 
 � � � ��	 
  � �
 2 �K  
 

    C a d m i u m  l a m p  c u r r e n t   4    m A 

    W a v e l e n g t h    228 . 8   n m  

    S l i t  w i d t h     0 . 7    n m  

    F l a m     Ai r -Ac e t y l e n e  

 

 4.  � � � ��	 
 1 ��
 7 ; � 	 �� � � 4 2 �� � 4 8 .� :/ 2 

  P r e c i s a  � ?
2  240 A 

 

 5.  � � � ��	 
 � �� � � � �� �M2 3� � - � 
� 
  (p H  M e t e r ) �	 
 � � �� ��  M e t r o h m  � ?
2  8 27  
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    9.  8 J�� � �2  4 	 
 4 � � = 7 � = �� -  - .� / � �� � �3� � 2 K.� 8 �� 	 � 
� 
 3
	 2 2 .� � �� �� � � � ; / 9� �� � � � � ��	 
  AAS  

 

 10.  �� � F 7 � - 8 �3� .� 6 � 3F 7 � - 8 �3< F 7 �< F � � F 7 �2  - .� / � �� 0 1 �� 3�� 2 K.� 8 �� 	 � 
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  11.  2 � P �3� 6 �� � � 7 �  

 

  12.  � � � ��	 
 :3�� � ��6 .� � �M2  

 

 13.  � 	 7 �� 2 9 � J � = � �  (Ad s o r p t i o n  C o l u m n ) = 5� 
 � . � 6 � 3 � � � � � � �� 	 � � (Ac r y l i c ) � - � 2 Q 
 � 2
4 J 2 � 937 � 
 I � � 0 2  2.8  2 �K �  � � � �- J 
  100 � = 2 8 � � �8 �  ��� �� � 3�� 8 � � 	 � 
 � 
 2 K. �  6 . � 2 � 2  3 6 ? �  � � 	  � �� � ; � � �
� � � �- J
  20, 50 :7 ;  8 0 � = 2 8 �� �8 �  6 � 3� ; � � � Q � � / 2 � � �	 
 8 � � � J � = � � 0 2 � 	 7 ��2 9 � J � = � �  � � 
 I � F � �� 18  

:7 ; I � F � �� 19 

 

 14.  R �
 � 3�� 2 K.� 8 �� 	 � 
� 
 �2 � �  140 7 �8 �  - .� / � �� � 3�� 2 K.� 8 �� 	 � 
� 
 3
	 2 R J3- J� 2 K.� - 

 � �� �
 � 	 7 ��2 9
� J� = ��  

  

    15.  � � � ��	 
 - J� 2 K.� 1 2 ��  S o l n o i d -D r i v e n  M e t e r i n g  P u m p  � ��/ �	 T AC M I N A C O R P O R AT I O N  

- .� / � �� - J� 2 K.� 8 �� 	 � 
� 
 � ��� - J
� 	 7 ��2 9� J� = ��  < � � � .� 3� � �� �� 	 �8 � � 3� � � / 7 �	 
 2 K.� � � �� �� 1.192 7 �8 � /1 �. 
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 �� � 
 �� � � � �� �� �
 � � ��� � �� � �
 �� �
 � � ��  

 

1. - � � 7 ; 7 � � �� 8 � @ � 2 :� � � ��� �� 2 � 8 � �  C d (N O
3
)

2
 � � � �� �����2  1,000 ��7 7 �3� ��/7 � 8 � �	 


AP S  Aj a x  F i n e c h e m  
 � 
 �� ; � � 4 	 	 - � 8 � � 7 �� 0 1 �- .� / � �� � 8 � �� �- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) 
 

 2. - � � 7 ; 7 � � 3� � � 2 8 � �3� �����2  (69 . 6%  C o n c . H N O
3
) 1 2 ��  AR  G r a d e  �	 
  M a l l i n c k r o d t  

 

3. < = � � �� �� T � � 	 3� = � 9 (N a O H ) 1 2 ��  AR  G r a d e  �	 
  M e r c k   

 

4. 2 K.� 37 ��2  0 1 �- .� / � �� � 8 � �� �- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2  

 

5. - � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 (I I ) 0 2 2 K.� � - �� - �
 � � � � ; / 9 � �	  - � � 7 ; 7 � � � �� � 8 � � � �6 � 33� � � 6 � 	
6 � 
 - � � 7 ; 7 � � �� 8 � @ � 2 :� � � ��� �� 2 � 8 � �  0 / ���� � � �� �����2 �� ; �� V  3 ��7 7 �3� ��8 
	 7 �8 �  

 

6. � / 7 �3	 	 3� = � 9 � �� 0 1 � 0 2 3� � � � 6 � � 2 . � �� 6 � 3< � 
 
 � 2 Q 7 � 8 � / 7 �3� � � � � 	 2  :7 ; � . � 3� � � � � � 7 � 	 3
�2 � � �	 
 � / 7 �3	 	 3� = � 9 < � � 2 .� �� � 
	 2 Q 
 � 2 8 ; :3� 
 � � 	 � 9 20 :7 ; � � 	 � 9 40 = 5� 
 6 ; � � ��2 � � 	 2 ? I � �
� / 7 �3	 	 3� = � 9 0.4-0.8  ��7 7 �� �8 �  < � � 3
	 2 3� � � J� = �� ���	 
 � / 7 �3	 	 3� = � 9� �M2 - �:� 
  (T ��� � � 8 9) :7 ;
- �� .�  (:�32 �� � 8 9) I � � / 7 �
 3� � � J� = �� � / 7 �3	 	 3� = � 96 ; ��- �:� 
 7 � 7 
  (T ��� � � 8 9)  :- � 
 0 2 I � F � �� 20 

 

      

 

                         (3) 3
	 2 � J� = ��                                                        (�)  / 7 �
 � J� = ��  

I � F � �� 20  7 �3� V ; � � 
 3� � I � F �	 
 � / 7 �3	 	 3� = � 9� ��0 1 �0 2 3� � � � 7 	 
  �2 � �  0.4-0.8  ��.   
                0 2 - I � F 3
	 2 � J� = ��  (3) :7 ; / 7 �
 � J� = ��  (�)  
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1.   �
 �� 
 � � $ � �
 �� % � ��  

  

 0 2 3� � � �6 �� 2 �K:� 

 3� � � � 7 	 
 	 	 3� �M2  5 ��K2 8 	 2   
 

 1.1  3� � � 8 � �� �8 �� � J� = �� � ��0 1 �0 2 3� � � � 7 	 
  

   

        8 � � � J � = � � � �� 0 1 � 0 2 3� � � � 7 	 
  � � 	  � / 7 �3	 	 3� = � 9 2 . � �� 6 � 3< � 
 
 � 2 Q 7 � 8 � / 7 �3� � � � � 	 2  
< � � � .� 3� � � �� � 7 �	 3�2 � � �	 
 � / 7 �3	 	 3� = � 9 < � � 2 . � �� � 
 	 2 Q 
 � 2 8 ; :3� 
 � � 	 � 9 20 :7 ; � � 	 � 9 40 = 5� 

� � ��2 � � 	 2 ?I � � � / 7 �3	 	 3� = � 9 0.4-0.8  ��7 7 �� �8 �  6 � 32 �K2 2 .� � �8 ��0 2 2 K. � � � � 	 � � �� 	 ? V / I J�� 10 0  	 
 4 �
� = 7 � = �� - � �M2 � � 7 �  1  1 ��� < �
    / 7 �
 6 � 32 �K2 7 �� 
 � �� � 2 K.� 37 �� 2 = K. �  3  � � �K 
    � F �� 	 3.� 6 � � � 4 � Q 
 :7 ; - �� 
 �2 � �WX 	 2

8 
 � 
 Y  	 	 3 :7 � � 2 . � � / 7 �3	 	 3� = � 9 � �� � � � � �	 � � 7 
 � � � �1 �K 2 � �� 	 ? V / I J�� 110  	 
 4 � � = 7 � = � � -  6 2 � � �
2 K.� / 2 �3� 
 � ��� �M2 � � 7 �  24 1 ��� < �
  � �K 
 � � � 0 / � � � � 2 :7 � � � 3�� � � � 0 2 8 J� � J � � � � �1 �K 2  (D e s s c i c a t o r ) � F �� 	 2 . � � �
:� 

 0 1 �0 2 3� � � � 7 	 
 ��K2 8 
	 � � 

 

 1.2  3� � 4 53� � 7 �3� V ; � � 
 3� � I � F :7 ; � � 
 � � ���	 
 � / 7 �3	 	 3� = � 9 
 

     1.2.1  � ?V - �� �8 �� � 
 3� � I � F  

 

              1) � �� � � � ; / 9� � � �/ 2 � :2 
2  � �� � � � � ��	 
  U l t r a p y c n o m e t e r  (Q u a n t a c h r o m e ) 

 

              2) R 
� � I � F �� � �  4,500 � � 
 �  �	 
 F �K 2 � �� Q � � � / 7 �3	 	 3� = � 93
	 2 :7 ; / 7 � 
 � . � �[ �3�� � � �  
� �� � � � � ��	 
  S c a n n i n g  E l e c t r o n  M i c r o s c o p e  (S E M ) 

 

       1.2.2  	 
 � 9�� ; 3	 � � � 
 � � ��  
 

               1) � �� � � � ; / 9 �� ��� V �	 
 	 	 3� = � 9 � � � � � � � �� 	 
  X- r a y  f l u o r e s c e n c e  S p e c t r o m e t e r  

(XR F ) 
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          2) � � � � � � ; / 9 \ � 8 ? � �� � �M 2 	 
 � 9�� ; 3	 � � � 
 � � ���	 
 � / 7 �3	 	 3� = � 93
 	 2 :7 ; / 7 � 
 � . �
�[ �3�� �� �  � �� � � � � ��	 
  S E M -E D S  

 

              3� � 8 � � 6 - 	 � 7 �3� V ; �	 
 � / 7 �3	 	 3� = � 93
	 2 :7 ; / 7 �
 �] �3� �� � 3�� :� � � ��� � � �� �
� � � ��	 
  S E M -E D S  � �M2 3� � 4 53� � 3� � � �7 ��� 2 :�7 
 �	 
 � / 7 �3	 	 3� = � 9< � � � ^ F � ; F �K2 � ��Q �� I � � / 7 �
 6 � 3
3� � � .� �] �3�� � � � 3�� :� � � ��� � � F �� 	 8 � � 6 - 	 � � 
 � � 3�� 3� � � J � = � � �	 
 :� � � ��� �3�� � / 7 �3	 	 3� = � 9 6 � � 

/ � �	 � �
 
 

 1. 3   3� � 4 53� � �_6 6 �� � ����Q 7 8 
	 3� � � J� = ��  

 

     1.3.1  3� � 4 53� � � ; � �� F �� 	 1 � ��� / �� ; - � 

 

 3� � 4 53� � � ; � � � F � � 	 1 � �� � / �� ; - � < � � 1 �� 
 � / 7 �3	 	 3� = � 9 � �����2 � � 	 2 ? I � �  0.4 > 
0.8  ��7 7 � � �8 �  �� ; �� V  1 3� �� 0 - 
 0 2 �� � � J�1 �F J
�2 � �  125 ��7 7 � 7 � 8 �   6 . � 2 � 2  6 0 �  6 � 32 �K 2 � 8 ��
- � � 7 ; 7 � � :� � � ��� �� � � �� �����2  3 ��7 7 �3� ��8 
 	 7 � 8 � � ���� � � F � � 	 1 0 / ���� 
 �    2 , 5, 7, 9, 10 :7 ;  11 
�� � 7 ;  100 ��7 7 �7 �8 �  �a� �� 3�� � :7 ; 2 .� � ��� � � � �� 	 
 � �� 
 � � �� � � � �� � � � � 	 �  125 � 	 � 8 
 	 2 � � � � �M2 � � 7 �   
2  1 �� � < �
  � �� 	 ? V / I J�� / � 	 
  :� 3� / 7 �3	 	 3� = � 9 < � � 0 1 � � � � �� 	 
 � / � �� � 
  :7 � � � 3�� - � � 7 ; 7 � � 0 - � �� � � � � �
� �� � � � ; / 9/ � � 
� F �� 	 1  � �
 :- � 
 � � �0 2 I � F � �� 21 :7 ; �� ��� V :� � � ��� �� ��� / 7 � 	 � � � � � � � �� 	 
  AAS  2 . � Q 7 � ��
� � ��� � �� � � � ; / 9� F ��	 � 7 �	 3� 
� F �� 	 1 � ��� / �� ; - � � F ��	 0 1 �0 2 3� � � � 7 	 
 8 
	 � � - . � / � � � :Q 2 Q � 
 3� � � � 7 	 

4 53� � � ; � �� F �� 	 1 � ��� / �� ; - � :- � 
 � � �0 2 I � F � �� 22 

  
 

 

 

 

 

 

  

I � F � �� 21   3� � 4 53� � � � 7 	 
 :� � � �
8 
	 � 2 ��	 
 0 2 3� � / � � ; � ; � � 7 � 3� � � J� = �� � ��� ��� - J
- �� ?7 � �� �          
                 � � � ��	 
 � �� 
� :7 ; 3� � � �� � 
� F �� 	 1  - � � 7 ; 7 � � 8 �� 	 � 
� 
 0 - < � � � � � ��	 
 � �� F �� 	 1 ��� 8 	 � 9 
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1 ��
 � / 7 �3	 	 3� = � 9� ����	 2 ?I � � �2 � �  0.4-0.8  ��7 7 �� �8 �  

�� ; �� V  1 3� �� 0 - 
0 2 �� � � J�1 �F J
 
 

 

 

� 8 ��- � � 7 ; 7 � � :� � � ��� �� � � �� �����2  3 �3./7  � ���� �� � 
� F �� 	 1 � �M2  

2 , 5, 7, 9, 10 :7 ;  11 �� ��� 8 �  100 �7 . 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

I � F � �� 22  :Q 2 Q �
 3� � � � 7 	 
 � F ��	 4 53� � / � � ; � �� F �� 	 1 � ��� / �� ; - � 

� 
 � �
 � ��� � 
 � � ��� �� �  125  �� � � �� � 
 � � � � �� � � 	 
  2 � ��� � � �  

� �  � ! 	 � � �  " # $ %� $ � & � '� � �(�� � � ! � ��� �  

� )
 * 
 �	 � 	 
 � & * " � � �� � �
 � ! %� � 
 � � 
 '� 
 '� � � $ � � �� � � ��� ! 	 (� � 	 � � �
 + �� � �  

� )
 
 '� � ,	 � ��" $ '" � � 
 �� �  �
 - � * $ � � � 
 � * �� + �� . %�� ! � �
 � + �� � � � 	 �  

� �� * �� . �/ 
 + & �  
 � )
 0 �$ � � $ � � �� � 
 � � � ! 	 � � �  " # $ % 

" $ '+ �� � � � ��� ! � 
 � * �  
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1.3.2   � � 7 � � ��� ��� - J
- �� ?7 3� � � J� = ��  

 

                3� � 4 53� � � � 7 � � ��� ��� - J
- �� ?7 3� � � J� = ��  � .� < � � 1 ��
 � / 7 �3	 	 3� = � 9 � �����2 � � 	 2 ? I � �  
0.4-0.8  ��7 7 �� �8 �  �� ; �� V  1 3� �� 0 - 
0 2 �� � � J�1 �F J
�2 � �  125 ��7 7 �7 �8 �  6 .� 2 � 2  8  0 �  6 � 32 �K 2 � 8 ��
- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) � � � �� �����2  3 ��7 7 �3� ��8 
	 7 �8 �  � ���� �� F � � 	 1 8 � �Q 7 3� � � � 7 	 
 ��	
1.3.1 �� � 7 ;  100 ��7 7 �7 �8 �  �a� �� 3�� � :7 ; 2 .� � ��� � � � ��	 
 � �� 
�  � .� 3� � � �� 
 � � �� � � � �� � � � � 	 �  125 � 	 �
8 
	 2 � � � � �M2 � � 7 �  0.25, 0.5, 1,  2,  6,  12,  24  :7 ;  36  1 �� � < �
  � �� 	 ? V / I J��/ � 	 
  :� 3� / 7 �3	 	 3� = � 9
	 	 3< � � 0 1 �� � � ��	 
 � / � ��� 
  � 3�� - � � 7 ; 7 � � 0 - � ��� � �� �� �� � � � ; / 9/ � � 
� F �� 	 1 :7 ; �� ��� V :� � � ��� �� 	 	 	 2
( I I )� �� � / 7 � 	 � � � � � � � �� 	 
  AAS  2 . � Q 7 � �� � � ��� � � � � � � ; / 9 � F �� 	 � 7 � 	 3� � 7 � � �� � . � 0 / � � 3�� 3� � � J � = � � :� � � ��� �
� 	 	 	 2 ( I I ) - J
 � ��- ?�  � F ��	 0 1 �0 2 3� � � � 7 	 
 8 
	 � �  
 

                :Q 2 Q �
 3� � � � 7 	 
 3� � 4 53� � � � 7 � � ��� ��� - J
- �� ?7 3� � � J� = ��  :- � 
 � � �0 2 I � F � �� 23 

 

  1.3.3  3� � 4 53� � � � � �- � �� � R 0 2 3� � � J � = � � :� � � �� � �� 	 	 	 2 �	 
 � / 7 �3	 	 3� = � 9 < � �
F �6 � � V � 6 � 3 Ad s o r p t i o n  I s o t h e r m   

 

              3� � 4 53� � � .� < � � 1 ��
 � / 7 �3	 	 3� = � 92 K.� / 2 �3  0.2,  0.5,  0.7,  1,  1.5  :7 ;  2 3� �� 6 ;
0 - 
0 2 �� � 1 �F J
 � 8 ��- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) � � � �� �����2  3 ��7 7 �3� ��8 
 	 7 � 8 � � ���� � � � 
 � F � � 	 1
8 � �Q 7 3� � � � 7 	 
 ��	  1.3.1  �� � 7 ;  100 ��7 7 � 7 � 8 �  �a� �� 3�� � :7 ; 2 . � � ��� � � � �� 	 
 � �� 
 �  < � � � �� 
 � � ��
� � � �� � �� � 	 �  125 � 	 � 8 
 	 2 � � � � �M2 � � 7 � � �� � � � 6 � 33� � � � 7 	 
 ��	  1.3.2 6 � 32 �K 2 :� 3� / 7 �3	 	 3� = � 9
	 	 3< � � 0 1 � � � � �� 	 
 � / � �� � 
  � 3� � - � � 7 ; 7 � � 0 - � �� � � � � �� � � � � � ; / 9 / � � 
 � F � � 	 1  :7 ; �� ��� V :� � � �� � �
� 	 	 	 2  ( I I ) � ��� / 7 �	 � � � � � � � �� 	 
  AAS  2 . � Q 7 � �� � � � � �� ��� 2 3� � H :- � 
 � � � �- ��F � 2 \ 9 � ; / � 
 � 
 �� ��� V
:� � � ��� �� 	 	 	 2 � ��R J3� J� = �� 8 
	 2 K.� / 2 �3� / 7 �3	 	 3� = � 9 :7 ; �� ��� V :� � � ��� �� 	 	 	 2  ( I I ) � �� � / 7 � 	  V  
- I � � ; - �� ?7   
 

            :Q 2 Q �
 3� � 4 53� �  Ad s o r p t i o n  I s o t h e r m  �	 
 � / 7 �3	 	 3� = � 9 :- � 
 � � �0 2 I � F � �� 24 

 



 

 

7 0  

 

 

1 ��
 � / 7 �3	 	 3� = � 9� ����	 2 ?I � � �2 � �  0.4-0.8  ��7 7 �� �8 �  

�� ; �� V  1 3� �� 0 - 
0 2 �� � � J�1 �F J
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

I � F � �� 23  :Q 2 Q �
 3� � � � 7 	 
 � F ��	 4 53� � / � � � 7 � � ��� ��� - J
- �� ?7 � J� = ��  

� 8 ��- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 � � � �� �����2  3 �3./7  � ���� �� � 
� F �� 	 1 8 � � 

Q 7 3� � � � 7 	 
  1.3.1  �� ��� 8 �  100 �7 . 

� �� 
� � ��� � � �� � �� � 	 �  125 � 	 � 8 
	 2 � � � � �M2 � � 7 �  0.25, 0.5, 1, 2, 6, 12, 24, :7 ;  36  1 ��� < �
  

� �  � ! 	 � � �  " # $ %� $ � & � '� � �(�� � � ! � ��� �  

� )
 * 
 �	 � 	 
 � & * " � � �� � �
 � ! %� � 
 � � 
 '� 
 '� � � $ � � �� � � ��� ! 	 (� � 	 � � �
 + �� � �  

� )
 
 '� � ,	 � ��" $ '" � � 
 �� �  �
 - � * $ � � � 
 � * �� + �� . %�� ! � �
 � � � 	 
 * �� 1 �* � 	 �  

� �� * �� . �/ 
 + & �  
 � )
 0 �$ � � $ � � �� � 
 � � � ! 	 � � �  " # $ % 

" $ '� � 	 
 * �� 1 �* � ��� ! � 
 � * �  



 

 

7 1 

 

 

1 ��
 � / 7 �3	 	 3� = � 9� ����	 2 ?I � � �2 � �  0.4-0.8  ��7 7 �� �8 �   
2 K.� / 2 �3 0.2,  0.5,  0.7, 1, 1.5 :7 ;  2 3� ��  0 - 
0 2 �� � � J�1 �F J
 

 

 

� 8 ��- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) � � � �� �����2  3 �3./7  � ���� �� � 
� F �� 	 1  

8 � �Q 7 3� � � � 7 	 
 ��	  1.3.1  �� ��� 8 �  100 �7 . 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

I � F � �� 24  :Q 2 Q �
 3� � 4 53� �  Ad s o r p t i o n  I s o t h e r m  �	 
 � / 7 �3	 	 3� = � 9 

� 
 � �
 � ��� � 
 � � ��� �� �  125  �� � � �� � 
 � � � � �� � � 	 
 � 
 � 1 	  
 �� $ 	 � � 
 '�  1.3.2  

� �  � ! 	 � � �  " # $ %� $ � & � '� � �(�� � � ! � ��� �  

� )
 * 
 �	 � 	 
 � & * " � � �� � �
 � ! %� � 
 � � 
 '� 
 '� � � $ � � �� � � ��� ! 	 (� � 	 � � �
 + �� � �  

���
 '� � ,	 � ��" $ '" � � 
 �� �  �
 - � * $ � � � 
 � * �� + �� . %�� ! � �
 � � ��� 
 4� � $ � � �� � � ��5 , $ ,$ # �� � ��
� 6)
 ! � � � ! 	 � � �  " # $ %� 	 � � � 
 � � 
 '� 
 '� 
 � � � � $ � � �� � � ��� ! 	 (�   
4 / 
 � � * � $ 7	 
 � � 
 � � � ! 	 � � �  " # $ %� ��� �� 6)
 ! � � � �
 � 8  ��  

 

" $ '* �  
 �" � � # � � � �  
 �$ ,$ # �� � � � - 	 7� $ 	 � 
 � � � ! 	 � � �  " # $ % 



 

 

7 2 

 

  1.3.4  3� � 4 53� � �� ; - �� \ �I � F 0 2 3� � � J � = � �  < � � � . � 3� � � � 7 	 
 :� � 8 
 	 � 2 �� 	 
  (C o n t i n u e d  

T e s t ) 0 2 � 	 7 ��2 9� J� = �� (Ad s o r p t i o n  C o l u m n )  

    

             0 2 3� � � � 7 	 
 0 1 �� 	 7 ��2 9� J� = ��  �2 � � � - � 2 Q 
 � 2 4 J 2 � 937 � 
 I � � 0 2  2.8  2 �K �  � � � �- J 
  
100 = �. 6 . � 2 � 2  1 � 	 7 ��2 9 < � � 0 2 � 	 7 ��2 9 � � � 6 ? � / 7 �3	 	 3� = � 9 - J 
  8 0 = �. - � � 7 ; 7 � � : � � � ��� �
� 	 	 	 2 ( I I ) � ��0 1 �0 2 3� � � � 7 	 
  � 8 � �� �< � � 2 .� - � � 7 ; 7 � � �� 8 � @ � 2 :� � � ��� �� � � �� �����2  1,000 �3.
8 
	 7 . �� � 6 �	 6 � 
 � �� � 2 K.� 37 ��2 0 / ���� � � �� �����2 �	 
 - � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) � � 
� 3��  3 �3.8 
	 7 . 
� . � 3� � �� � � � 
 � F � � 	 1 �	 
 - � � 7 ; 7 � � : � � � ��� �� 	 	 	 2  ( I I ) 3
	 2 � �� � - J
 � 	 7 ��2 9 � J � = � �  8 � �Q 7 3� �
� � 7 	 
 � ��� � �6 � 3��	  1.3.1 :7 �� � �� �� ��� V :� � � ��� �� 	 	 	 2  ( I I ) � � ���8 �2  � ���	 � � ���8 �2 � .� 3� � � � 7 	 
 < � �
� .� 3� � �7 
	 � - � � 7 ; 7 � � :� � � ��� �� 	 	 	 2 ( I I ) � ��� - J
 � 	 7 ��2 9 � J � = � � 	 � 
 � 
 8 
 	 � 2 �� 	 
 :� � � / 7 7 
  (D o w n  

F l o w ) � �� 	 � 8 � � 3� � 3� 	 
  0.3 7 � .�/8 � .�- 1 �. 6 � 32 �K 2 6 5 
 � � ���� 3� � 8 � � 	 � 
 � 
 2 K. � � �� Q 
 � 2 3� � � . � � � � � ?3 1 
1 ��� < �
 0 2 :8 
7 ; � � � �- J
 �	 
 1 �K2 8 �� � J� = �� � �	  20 , 50 :7 ;  8 0 � = 2 8 �� �8 �  6 2 R 5
 6 ?� � ��� � � �� �����2 �	 

2 K.� 8 �� 	 � 
 � 
 � �� Q 
 � 2 � 	 7 ��2 9 � J � = � � ��� 
 � �� 33� 
 �  0.03 �3.8 
 	 7 .( 6 ? � � � � � � � J 6 9)  2 . � 2 K. � 8 � � 	 � 
 � 
 � �� � � � � �
8 � � 6 � �� �� ��� V :� � � ��� �� 	 	 	 2  ( I I ) � ��� / 7 �	 	 � J
0 2 2 K.� 8 �� 	 � 
� 
 / 7 �
 Q 
� 2 3� � � .� � ��  :7 ; 2 .� � 
� � ��� � � � �
� ��� 2 3� � H � � � �- ��F �2 \ 9� ; / � 
� 
 � � 7 � :7 ; �� ; - �� \ �I � F 3� � 3.� 6 �� :� � � ��� �� 	 	 	 2  ( I I ) 
 

 1. 4  3� � � � � = ��  (D e s o r p t i o n ) 

 

        3� � 4 53� � 3� � � � � = � �  (D e s o r p t i o n ) � � 	  3� � � �
 � J � = � �  :8 
 � �M 2 3� � / 7 ? � 	 	 3�	 
 - � �
�2 � �WX	 2 � ��R J3� J� = �� � 2 Q �� �	 
 � / 7 �3	 	 3� = � 9    3� � 4 53� � 3� � � � � = � � � . � < � � 1 �� 
 � / 7 �3	 	 3� = � 9 � ����
�2 � � 	 2 ?I � �  0.4-0.8   ��7 7 �� �8 �  �� ; �� V  1 3� �� 0 - 
 0 2 �� � � J�1 �F J
�2 � �  125 ��7 7 � 7 � 8 �   6 � 32 �K 2
� 8 ��- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2  ( I I ) � � � �� �����2  3 ��7 7 �3� ��8 
 	 7 � 8 �  �a� �� 3�� � :7 ; 2 . � � ��� � � � �� 	 

� �� 
 � � �� � � � �� � � � � 	 �  125 � 	 � 8 
 	 2 � � � � �M2 � � 7 � 2 � 2 � � 
 � 3�� � � 7 � 0 2 ��	  1.3.2  � �� 	 ? V / I J��/ � 	 
  :� 3
� / 7 �3	 	 3� = � 9 < � � 0 1 � � � � �� 	 
 � / � �� � 
  :7 � � � 3� � - � � 7 ; 7 � � 0 - � �� � � � � �� � � � � � ; / 9 / � �� ��� V :� � � ��� �
� 	 	 	 2 ( I I ) � ��� / 7 �	 � �� � � � � ��	 
  AAS   :7 �� 2 .� � 	 � � / 7 �3	 	 3� = � 9 � �	 � :/ � 
    :7 � � 2 . � � �0 - 
 0 2 �� � � J�
1 �F J
�2 � �  125 ��7 7 �7 �8 �   6 � 32 �K 2 � 8 ��2 K. � 37 �� 2  100 ��7 7 �3� ��8 
 	 7 � 8 �  �a� �� 3�� � :7 ; 2 . � � ��� � � � �� 	 

� �� 
� � ��� � � �� � �� � 	 �  125 � 	 � 8 
	 2 � � � � �M2 � � 7 � 2 � 2 � � 
� 3�� � � 7 � 0 2 ��	  1.3.2  � ��	 ?V / I J��/ �	 
 � 
 � �� :� 3
� / 7 �3	 	 3� = � 9 < � � 0 1 � � � � �� 	 
 � / � �� � 
  :7 � � � 3� � - � � 7 ; 7 � � 0 - � �� � � � � �� � � � � � ; / 9 / � �� ��� V :� � � ��� �
� 	 	 	 2 ( I I ) � ��� / 7 �	 � �� � � � � ��	 
  AAS   � .� = K.� :8 
� �7 ��� 2 6 � 32 K.� 37 ��2 � �M2 - � � 7 ; 7 � � 3� � F �� 	 1  5 � �
 :- � 
 0 2
I � F � �� 25 



 

 

7 3  

 

1 ��
 � / 7 �3	 	 3� = � 9� ����	 2 ?I � � �2 � �  0.4-0.8  ��7 7 �� �8 �  

�� ; �� V  1 3� �� 0 - 
0 2 �� � � J�1 �F J
 
 

� 8 ��- � � 7 ; 7 � � :� � � ��� �� 	 	 	 2  ( I I ) � � � �� �����2  3 �3./7   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

/ �� � � / 8 ?  1 � � 7 	 
 = K.� 6 .� 2 � 2  3 � � �K
  :7 ; � .� 3� � � � 7 	 
 = K.�  < � � � �7 ��� 2 2 K.� 37 ��2 � �M2 3� � F �� 	 1  5 

I � F � �� 25 :Q 2 Q �
 3� � � � 7 	 
 4 53� � 3� � � � � 	 	 3:� � � ��� �� 	 	 	 2  ( I I ) � �� � 2 K.� 37 ��2 :7 ;  

                - � � 7 ; 7 � � 3� � F �� 	 1  5 

� 
 � �
 � ��� � 
 � � ��� �� �  125  �� � � �� � 
 � � � � �� � � 	 
  � 
 � 
 '�  1.3.2 

� �  � ! 	 � � �  " # $ %� $ � & � '� � �(�� � � ! � ��� �  

� )
 * 
 �	 � 	 
 � & * " � � �� � �
 � ! % 
� � 
 � � 
 '� 
 '� � � $ � � �� � � ��� ! 	 (�  

� )
 
 '� � ,	 � ��" $ '" � � � ��� � � � �� �  �� & �  
 �� 
 � � �  
 � � � � $ � � �� �  

� )
 � ! 	 � � �  " # $ % 
" � � � & ! '� ! '�  

� 8 ��2 K.� 37 ��2  100 �7 .� 
 � �
 � ��� � 
 � � ���
�� �  125  �� � � �� � 
 � �  
� � �� � � 	 
 � 
 � 
 '�   1.3.2 1 

� �  � ! 	 � � �  " # $ % 
� $ � & � '� � �(�� � � ! � ��� �  

� )
 * 
 �	 � 	 
 � & *  

" � � �� � �
 � ! % 



 

 

7 4  

 

 1.5   3� � �� ; � ��2 � � � � 8 �2 � ?2 3� � 0 1 �� / 7 �3	 	 3� = � 90 2 3� � 3.� 6 �� :� � � ��� �� 	 	 	 2  ( I I ) 

 

         �� ; � ��2 � � � � 8 �2 � ?2 � 
� 0 1 �6 
� � 0 2 3� � � . � � � � :� � � ��� �� 	 	 	 2  ( I I ) 0 2 - � � 7 ; 7 � �   < � �
� .� 2 � V � ^ F � ; 8 �2 � ?2 6 � 3� � � � �	 
 8 � � � J � = � �  - � � � � �� :7 ; 3� � � � � :� 3�2 � � � / 7 �3	 	 3� = � 9 � �� 0 1 � 0 2
3� � � � 7 	 
 � � 
� 2 �K2  

 

2.   �
 �� �� � �
 � ' �� ��( 
 ) � *�
  

 

 3� � � �� � � � ; / 9� ?V I � F 2 K. � 6 ; 0 1 � � � \ � � � � � � � ; / 9 8 � �� � \ ��	 
  S t a n d a r d  M e t h o d s  f o r  E x a m i n a t i o n  

o f   W a t e r  a n d  W a s t e w a t e r   0 2 / �� ��	   3111 B  D i r e c t  Ai r -Ac e t y l e n e  F l a m e  M e t h o d  (AP H A, 19 9 5 ) 

� �
 :- � 
 0 2 8 � � � 
 � �� 12 

 

8 � � � 
 � ��12  � �\ �3� � � �� � � � ; / 9� ?V I � F 2 K.� 0 2 3� � � � 7 	 
  

 

F � � � ��� 8 	 � 9 / 2 
� �  � � � ��	 
 ��	 � �� � � � ; / 9 3� � � 3�� 2 K.� 8 �� 	 � 
� 
  

� 
� � � � �� �M2 3� � - � 
� 
  

(� 
� F �� 	 1 ) 
- p H  M e t e r  3
	 2 :7 ; / 7 �
 Q 
� 2 3� �

� J� = �� < � � � / 7 �3
	 	 3� = � 9 

� 
� � � � �� �����2
:� � � ��� �� 	 	 	 2  (I I ) 

�3./7 �8 �  � � � ��	 
  AAS  3
	 2 :7 ; / 7 �
 Q 
� 2 3� �
� J� = �� < � � � / 7 �3
	 	 3� = � 9 

 

 

 

 

 

 

 

 


